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Reasoning 
 

Directions (Q. 1-5): Study the following information and answer the questions given below. 

 

Eight people - E, F, G, H, J, K, L and M are sitting around a circular table facing the centre. Each of them is of a 

different profession – Chartered Accountant, Columnist, Doctor, Engineer, Financial Analyst, Lawyer, 

Professor and Scientist but not necessarily in the same order. F is sitting second to the left of K. The Scientist is 

an immediate neighbour of K. There are only three people between the Scientist and E. Only one person sits 

between the Engineer and E. The Columnist is to the immediate right of the Engineer. M is second to the right 

of K. H is the Scientist. G and J are immediate neighbours of each other. Neither G nor J is an Engineer. The 

Financial Analyst is to the immediate left of F. The Lawyer is second to the right of the Columnist. The 

Professor is an immediate neighbour of the Engineer. G is second to the right of the Chartered Accountant.  

funsZ”k ¼iz”u 1&5½% fuEufyf[kr tkudkjh dk /;kuiwoZd v/;;u dhft, vkSj uhps fn, x, iz”uksa ds mÙkj nhft,A 

vkB O;fDr & E, F, G, H, J, K, L vkSj M ,d òrkdkj est ds fxnZ dsUæ dh vksj eqag fd;s cSBs gSaA muesa ls izR;sd ,d vyx is”ks ls 

gSa & pkVZMZM ,dkmaVsaV] LraHkdkj] MkWDVj] bathfu;j] foRrh; fo”ys’kd odhy] izksQslj vkSj oSKkfud ysfdu t:jh ugha fd ,d gh Øe esa 

gksA F, K ds ck;sa nwljs LFkku ij cSBk gSA oSKkfud] K dk fudVre iM+kslh gSA oSKkfud vkSj E ds chp esa dsoy rhu yksx cSBs gSaA 

bathfu;j vkSj E ds chp esa dsoy ,d O;fDr cSBk gSA LraHkdkj] bathfu;j ds rRdky nk;sa cSBk gSA M, K ds nk;sa nwljs LFkku ij cSBk gSA 

H oSKkfud gSA G vkSj J ,d nwljs ds fudVre iM+kslh gaSA u rks G vkSj u gh J bathfu;j gSA foRrh; fo”ys’kd] F ds rRdky ck;sa gSA 

odhy] LraHkdkj ds nk;sa nwljs LFkku ij cSBk gSA izksQslj] bathfu;j dk fudVre iM+kslh gSA G, pkVZMZM ,dkmaVsaV ds nk;sa nwljs LFkku ij 

cSBk gSA 

1. Who is sitting second to the right of E?  

 (1) The Lawyer   (2) G   (3) The Engineer  (4) F    (5) K  

      E ds nk;sa nwljs LFkku ij dkSu cSBk gS\ 

 (1) odhy   (2) G   (3) bathfu;j  (4) F    (5) K Ans : 2 

2. Who amongst the following is the Professor?  

 (l) F   (2) L   (3) M    (4) K    (5) J  

      fuEufyf[kr esa ls dkSu izksQslj gS\ 

 (l) F   (2) L   (3) M    (4) K    (5) J Ans : 4 

3. Four of the following five are alike in a certain way based on the given arrangement and hence form a 

 group. Which of the following does not belong to that 'group? 

 (1) Lawyer - K    (2) M- Doctor    (3) J - Engineer  

 (4) Financial Analyst - L    (5) Chartered Accountant – H 

    nh xbZ O;oLFkk ds vk/kkj ij fuEufyf[kr ikap esa ls pkj fdlh rjg leku gSa vkSj bl rjg ,d lewg cukrs gSaA og dkSu lk gS tks 

bl lewg esa “kkfey ugha gS\ 

 (1) odhy - K    (2) M - MkWDVj   (3) J - bathfu;j 

 (4) foRrh; fo”ys’kd - L    (5) pkVZMZM ,dkmaVsaV – H     Ans : 3 

4. What is the position of L with respect to the Scientist?    

 (1) Third to the left   (2) Second to the right  (3) Second to the left  

 (4) Third to the right   (5) Immediate right 

      oSKkfud ds lanHkZ esa L dh fLFkfr D;k gS\ 
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 (1) ck;sa ls rhljk    (2) nk;sa ls nwljk    (3) ck;sa ls nwljk 

 (4) nk;sa ls rhljk   (5) rRdky nk;sa      Ans : 2 

5. Which of the following statements is true according to the given arrangement? 

 (1) The Lawyer is second to the left of the Doctor.  

 (2) E is an immediate neighbour of the Financial Analyst.  

 (3) H sits exactly between F and the Financial Analyst. 

 (4) Only four people sit between the Columnist and F. 

 (5) All of the given statements are true.  

       nh xbZ O;oLFkk ds vk/kkj ij fuEufyf[kr esa ls dkSu lk dFku lR; gS\ 

 (1) odhy] MkWDVj ds ck;sa nwljs LFkku ij gSA 

 (2) E, foRrh; fo”ys’kd dk fudVre iM+kslh gSA 

 (3) H, F vkSj foRrh; fo”ys’kd ds Bhd chp esa cSBrk gSA 

 (4) LraHkdkj vkSj F ds chp esa dsoy pkj yksx cSBrs gSaA 

 (5) fn, x, lHkh dFku lgh gSaA         Ans : 1 

 

Directions (6-10): Study the following information carefully and answer the given questions:  

 

A, B, C, D, E, F and G are seven friends studying seven different branches of engineering, namely 

Mechanical, Chemical, Electrical, Electronics, Civil, Computer and Aeronautical Engineering, not 

necessarily in this order. Each of them studies in three different colleges, X, Y and Z. Not less than two 

study in any college. D studies Electrical engineering in College X. The one who studies Chemical 

Engineering does not study in college Z. F studies Aeronautical Engineering in college Y with only B. A 

does not study in college X and does not study Civil Engineering. E Studies Computer Engineering and 

does not study in college X. G studies Electronics Engineering but not in college X. None in college X 

studies Mechanical or Civil Engineering.  

funsZ”k ¼iz”u 6&10½% fuEufyf[kr tkudkjh dk /;kuiwoZd v/;;u dhft, vkSj fn, x, iz”uksa ds mÙkj nhft,A 

lkr nksLr A, B, C, D, E, F vkSj G lkr vyx&vyx “kk[kkvksa vFkZkr eSdsfudy] dsfedy] bysDVªhdy] bysDVªksfuDl] flfoy] daI;wVj 

vkSj ,jksukWfVdy baftfu;fjax dk v/;;u dj jgs gSa] ij ;s t:jh ugha gS fd blh Øe esa gksaA muesa ls izR;sd rhu vyx&vyx dkWystksa 

X, Y  vkSj Z esa i<+kbZ djrs gSaA fdlh Hkh dkWyst esa nks ls de ugha i<+rs gSaA D dkWyst X esa bysDVªhdy baftfu;fjax dh i<+kbZ djrk gSA 

og tks dsfedy baftfu;fjax dh i<+kbZ djrk gS] oks dkWyst X esa i<+kbZ ugha djrk gSA F dsoy B ds lkFk dkWyst Y esa ,jksukWfVdy 

baftfu;fjax dh i<+kbZ djrk gSA A dkWyst X esa i<+kbZ ugha djrk gS vkSj og flfoy baftfu;fjax dh i<+kbZ ugha djrk gSA E daI;wVj 

baftfu;fjax dh i<+kbZ djrk gS vkSj og dkWyst X esa i<+kbZ ugha djrk gSA G bysDVªksfuDl baftfu;fjax dh i<+kbZ djrk gS ysfdu og 

dkWyst X esa i<+kbZ ugha djrk gSA dkWyst X esa dksbZ eSdsfudy ;k flfoy baftfu;fjax dh i<+kbZ ugha djrk gSA 

 

6. Which of the following groups represents the person studying in college Z? 

(1) D, B    (2) C, E, G  (3) A, G  (4) G, E, A   (5) None of these 

fuEufyf[kr esa ls dkSu lk lewg dkWyst Z esa i<+us okys O;fDr;ksa dk izfrfuf/kRo djrk gS\ 

(1) D, B    (2) C, E, G  (3) A, G  (4) G, E, A   (5) buesa ls dksbZ ugha 

            Ans : 4 

7. In which of the following colleges does C study?  

 (1) X   (2) Y   (3) Z   (4) Either X or Z  (5) Cannot be determined 
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 fuEufyf[kr esa ls dkSu ls dkWyst esa C i<+kbZ djrk gS\ 

 (1) X   (2) Y   (3) Z   (4) ;k rks X ;k fQj Z  (5) r; ugha fd;k tk ldrk gS 

           Ans : 1 

8. Which of the following combinations is correct? 

 (1) A-Civil-Z    (2) B-Chemical-Y   (3) C-Chemical-Z  

 (4) G-Electronics-Y    (5) None of the above 

 fuEufyf[kr esa ls dkSu lk la;kstu lgh gS\ 

 (1) A- flfoy -Z    (2) B-dsfedy-Y   (3) C- dsfedy-Z  

 (4) G-bysdVªksfuDl-Y    (5) mi;ZqDr esa ls dksbZ ugha     Ans : 5 

9. B studies which of the following branches of Engineering? 

 (1) Chemical   (2) Mechanical  (3) Civil 

 (4) Cannot be determined (5) None of the above 

     baftfu;fjax dh fuEufyf[kr fdl “kk[kk dh i<+kbZ B djrk gS\ 

 (1) dsfedy   (2) eSdsfudy   (3) flfoy 

 (4) Cannot be determined (5) None of the above    Ans : 3 

10. Who studies Chemical Engineering? 

 (1) B (2) C  (3) E   (4) A   (5) None of these 

     dkSu dsfedy baftfu;fjax dh i<+kbZ djrk gS\ 

 (1) B (2) C  (3) E   (4) A   (5) buesa ls dksbZ ugha 

           Ans : 2 

Directions (Q. 11-15): Study the given information carefully to answer the given question. 

 

J, K, L, M, N, O and P live on seven different floors of a building but not necessarily in the same order. 

The lower most floor of the building is numbered 1, the one above that is numbered 2 and so on till the 

topmost floor is numbered 7. Each one of them also likes a different subject namely – English, History, 

Commerce, Biology, Accounts, Geography and Computer. (But not necessarily in the same order.)  

 J lives on an odd numbered floor but not on the floor numbered 3. The one who likes accounts 

lives immediately above J. Only two people live between M and the one who likes Accounts. 

 The one who likes History lives on one of the odd numbered floors above M. Only three people 

live between L and the one who likes History. The one who likes Commerce lives immediately 

above L. 

 The one who likes English lives immediately above the one who likes Computer. P lives on an odd 

numbered floor. 

 Only one person lives between K and N. K lives on one of the floors above N. Neither L nor J like 

Biology. N does not like Commerce. 

funsZ”k ¼iz”u 11&15½% fuEufyf[kr tkudkjh dk /;kuiwoZd v/;;u dhft, vkSj fn, x, iz”uksa ds mÙkj nhft,A 

,d bekjr ds lkr vyx&vyx eaftyksa ij J, K, L, M, N, O vkSj P jgrs gSa] ysfdu ;g t:jh ugha gS fd mlh Øe 

esa gksaA bekjr ds lcls fupys eafty dh la[;k 1 gS] mlds Åij dh eafty dh la[;k 2 gS vkSj blh rjg ckdh dh 

eaftyksa dh la[;k gS rFkk lcls Åijh eafty dh la[;k 7 gSA muesa ls izR;sd dks ,d vyx fo’k; Hkh ilan gS vFkkZr~ & 

vaxzsth] bfrgkl] okf.kT;] tho foKku] ys[kk] Hkwxksy vkSj daI;wVjA ¼ysfdu t:jh ugha gS fd blh Øe esa gksa½ 
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 J ,d fo’ke la[;k okys eafty esa jgrk gS] ysfdu rhljh eafty ij oks ugha jgrk gSA og ftls ys[kk ilan gS oks J ds Bhd 

Åij okyh eafty ij jgrk gSA dsoy nks O;fDr M vkSj ys[kk ilan djus okys ds chp esa jgrs gaSA 

 Okg ftls bfrgkl ilan gS oks M ds Åij fdlh ,d fo’ke la[;k okys eafty ij jgrk gSA dsoy rhu O;fDr L vkSj 

bfrgkl ilan djus okys ds chp esa jgrs gSaA og ftls okf.kT; ilan gS oks L ds Bhd Åij okyh eafty ij jgrk gSA 

 og ftls vaxzsth ilan gS oks daI;wVj ilan djus okys ds Bhd Åij okyh eafty ij jgrk gSA P ,d fo’ke la[;k okys 

eafty esa jgrk gSA 

 dsoy ,d O;fDr M vkSj N ds chp esa jgrk gSA K, N ds Åij fdlh ,d eafty ij jgrk gSA u rks L vkSj u gh J dks 

tho foKku ilan gSA N dks okf.kT; ilan ugha gSA 

11. Which of the following subjects does J like? 

 (1) Geography  (2) Computer  (3) Commerce (4) History  (5) English 

 fuEufyf[kr fo’k;ksa esa ls dkSu lk J ilan djrk gS\ 

   (1) Hkwxksy  (2) daI;wVj (3) dkWelZ (4) bfrgkl  (5) vaxzsth Ans : 4 

12. Which of the following combinations is true with respect to the given arrangement? 

 (1) Geography-L  (2) History-O  (3) Computer-P (4) Accounts-M      (5) Biology-K 

      fuEufyf[kr dk dkSu lk la;kstu dks ns[krs gq, O;oLFkk ds laca/k esa lR; gS\ 

 (1) Hkwxksy -L  (2) bfrgkl -O  (3) daI;wVj -P (4) ys[kk-M      (5) tho foKku-K 

            Ans : 1 

13. If all the people are made to sit in alphabetical order from top to bottom, the positions of how many 

 people will remain unchanged? 

 (1) Four  (2) None  (3) Two  (4) One  (5) Three 

 ;fn lHkh yksxksa dks Åij ls uhps o.kZekyk ds Øe esa cSBk;k tkrk gS] rks fdrus yksxksa dh fLFkfr ;Fkkor cuh jgsxh\ 

  (1) pkj  (2) dksbZ ugha  (3) nks  (4) ,d  (5) rhu  Ans :  2 

14. Which of the following statements is true with respect to the given arrangement/ 

 (1) The one who likes Computer lives immediately below J. 

 (2) O likes History. 

 (3) None of the given options is true. 

 (4) Only four people live between M and P. 

 (5) P lives immediately below N. 

      fuEufyf[kr c;kuksa esa ls dkSu lk fn;k O;oLFkk ds laca/k esa lR; gS\ 

 (1) og tks daI;wVj ilan djrk gS oks J ds Bhd uhps jgrk gSA 

 (2) O bfrgkl ilan djrk gSA 

 (3) fn, x, fodYiksa esa ls dksbZ Hkh lR; ugha gSA 

 (4) dsoy pkj yksx M vkSj P ds chp esa jgrs gSaA 

 (5) P ds Bhd uhps jgrk gSA          Ans : 4 

15. Who amongst the following lives on the floor numbered 2? 

 (1) K (2) The one who likes English. 

 (3) The one who likes Computer. 

 (4) M (5) O 

   fuEufyf[kr esa ls dkSu lk nwljs eafty ij jgrk gS\ 

 (1) K (2) og tks vaxzsth ilan djrk gS 
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 (3) og tks daI;wVj ilan djrk gS 

 (4) M (5) O         Ans : 3 

 

 

Directions (Q. 16-20): Study the following information and answer the given questions:  

 

A word and number arrangement machine when given an input line of words and numbers rearranges them 

following a particular rule in each step. The following is an illustration of input and rearrangement.  

funsZ”k ¼iz”u 16&20½% fuEufyf[kr tkudkjh dk /;kuiwoZd v/;;u dhft, vkSj fn, x, iz”uksa ds mÙkj nhft,A 

 

“kCn O;oLFkk ,oa la[;k dh O;oLFkk djus okyh ,d e”khu dks tc “kCnksa vkSj la[;kvksa dh ,d buiqV ykbu nh tkrh gS rks og izR;sd 

pj.k esa ,d [kkl fu;e dk ikyu djrs gq, mls iquO;ZofLFkr djrh gSA uhps buiqV vkSj iquO;ZoLFkk dk ,d mnkgj.k fn;k x;k gSA  

 

Input: software process revenue 44 providers otherwise 80 demonstrating information shipping 60 

Step I:  process software revenue 44 providers otherwise 80 demonstrating information shipping 60   

Step II:  process software providers revenue 44 otherwise 80 demonstrating information shipping 60  

Step III:  process software providers information revenue 44 otherwise 80 demonstrating shipping 60  

Step IV:  process software providers information demonstrating revenue 44 otherwise 80 shipping 60  

Step V:  process software providers information demonstrating otherwise 80 revenue 44 shipping 60  

  And step V is the last step of the above input, as the desired arrangement is obtained. As per the 

rules followed in the above steps, find out in each of the following questions the appropriate step for the given 

input.  

vkSj pj.k V mi;ZqDr buiqV dk vafre pj.k gS] tSlk fd okafNr O;oLFkk izkIr dh x;h gSA mijksDr pj.kksa esa vuqlfjr fu;eksa ds vuqlkj 

fn, x, buiqV ds izR;sd iz”u esa mi;qDr pj.k dk irk yxkb,% 

Input: "inventory quartz 58 premier 42 customer information system dynamic 15 viewer 36"  

 

16. How many steps would be required to get the final output? 

 (1) Six  (2) Seven   (3) Five  (4) Four  (5) None of these  

 vafre vkWmViqV izkIr djus ds fy, fdrus pj.kksa dh vko”;drk gksxh\ 

 (1) Ng (2) lkr  (3) ikap   (4) pkj   (5) buesa ls dksbZ ugha 

            Ans : 3 

17. Which word/number would be at the 5th place from the left in Step IV?   

 (1) dynamic  (2) 15   (3) quartz  (4) premier   (5) None of these  

 dkSu lk “kCn@la[;k prqFkZ pj.k esa ck,a ls 5osa LFkku ij gks ldrk gS\ 

 (1) dynamic  (2) 15   (3) quartz  (4) premier   (5) buesa ls dksbZ ugha 

            Ans : 1 

18. Which step number is the following output?   

 "system customer inventory information dynamic 42 premier 15 quartz 58 viewer 36"  

 (1) Step V  (2) Step IV   (3) Step VI   (4) Step III  (5) There is no such step 
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 fuEufyf[kr vkWmViqV dkSu lk pj.k gS\ 

        "system customer inventory information dynamic 42 premier 15 quartz 58 viewer 36"  

 (1) pj.k V  (2) pj.k IV   (3) pj.k VI   (4) pj.k III  (5) ,Slk dksbZ pj.k ugha gS 

            Ans : 5 

19. If in Step IV 'system' is related to '36' and 'customer' is related to 'viewer', in the same way, 'inventory' is 

 related to which of the following?  

 (1) premier  (2) 42    (3) 15   (4) dynamic  (5) None of these  

;fn pj.k IV esa IV 'system' lacaf/kr gS '36' ls vkSj 'customer' lacaf/kr gS viewer' ls] rks mlh rjg 'inventory' fuEufyf[kr 

esa ls fdl ls lacaf/kr gS\ 

 (1) premier  (2) 42    (3) 15   (4) dynamic  (5) buesa ls dksbZ ugha 

           Ans : 2 

20. Which of the following represents the position of 'information' in the third step?   

 (1) 6th from the left    (2) 9th from the left    (3) 9th from the right   

 (4) 6th from the right    (5) None of these  

 fuEufyf[kr esa ls dkSu lk rhljs pj.k esa 'information' dh fLFkfr dk izfrfuf/kRo djrk gS\ 

 (1) ck;sa ls 6Bk    (2) ck;sa ls 9oka   (3) nk;sa ls 9oka  

 (4) nk;sa ls 6Bk   (5) buesa ls dksbZ ugha     Ans : 3 

 

Directions (Q. 21-25): In each question below are given three statements followed by two conclusions 

numbered I and II. You have to take the given statements to be true even if they seem to be at variance with 

commonly known facts. Read all the conclusions and then decide which of the given conclusions logically 

follows from the given statements disregarding commonly known facts. Give answer.  

 1) if only conclusion I follows.  

 2) if only conclusion II follows.  

 3) if either conclusion I or II follows.  

 4) if neither conclusion I nor II follows.  

 5) if both conclusions I and II follows. 

funsZ”k ¼iz”u 21&25½% fups fn, x, izR;sd iz”u eas rhu dFku vkSj mlds ckn nks fu’d’kZ I vkSj II fn, x, gSA vkidks fn, x, dFkuksa dks 

lR; ekuuk gS Hkys gh os loZKkr rF;ksa ls fHkUu izrhr gksrs gksaA lHkh fodYiksa dks if<+, vkSj fQj r; dhft, fd dkSu&lk@ls fu’d’kZ fn, 

x, dFkuksa dk rdZlaxr #i ls vuqlj.k ugha djrk@djrs gS@gSa] Hkys dh loZKkr rF; dqN Hkh gksaA mÙkj nhft, &  

 1) ;fn dsoy fu’d’kZ I vuqlj.k djrk gSA 

 2) ;fn dsoy fu’d’kZ II vuqlj.k djrk gSA 

 3) ;fn ;k rks fu’d’kZ I ;k II vuqlj.k djrk gksA 

 4) ;fn uk rks fu’d’kZ I uk gh II vuqlj.k djrk gksA 

      5) ;fn fu’d’kZ I vkSj II nksuksa vuqlj.k djrk gksA 

21. Statements: Some registers are files.  

      All registers are folders.  

      All folders are columns.  

     Conclusions: I. Some registers are not columns. 

      II. All folders being files is a possibility.  
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 dFku % dqN jftLVj Qkby gSaA 

          lHkh jftLVj QksyMj gSaA 

          lHkh QksyMj dkWye gSaA 

    fu’d’kZ % I. dqN jftLVj dkWye ugha gSaA 

    II. lHkh QksyMj ds Qkby gksus dh laHkkouk gSA      Ans : 2 
 

22. Statements: All solutions are liquids.  

       No liquid is a mixture.  

       All mixtures are matters.  

     Conclusions: I. All solutions being matters is a possibility.  

      II. No solution is a mixture.  

   dFku % lHkh lksY;q”ku fyfDoM gSaA 

          dksbZ fyfDoM feDlpj ugha gSA 

          lHkh feDlpj eSVj gSA 

    fu’d’kZ % I. lHkh lksY;q”ku ds eSVj gksus dh laHkkouk gSA 

        II. dksbZ lksY;q”ku feDlpj ugha gSA       Ans : 5 

23. Statements: Some pages are pens.  

      All novels are pages.  

      No novel is a book.  

     Conclusions:  I. Some pens, if they are novels, are also pages.  

        II. All books being pages is a possibility.  

   dFku % dqN ist isu gSaA 

          lHkh uksosy ist gSaA 

          dksbZ uksosy cqd ugha gSA 

    fu’d’kZ % I. dqN isu] ;fn os uksosy gSa] rks ist Hkh gSaA 

    II. lHkh cqd ds ist gksus dh laHkkouk gSA       Ans : 5 

24. Statements: All doctors are professors.  

       Some doctors are intelligent.  

       No intelligent is poor.  

Conclusions:  I. At least some doctors being poor is a possibility.  

   II. All doctors, if they are intelligent, are also poor.  

    dFku % lHkh MkWdVj izksQslj gSaA 

           dqN MkWdVj baVsfytsUV gSaA 

           dksbZ baVsfytsUV iqvj ugha gSA 

    fu’d’kZ % I. de ls de dqN MkWdVj ds iqvj gksus dh laHkkouk gSA 

    II. lHkh MkWdVj] ;fn os baVsfytsUV gSa] rks os iqvj Hkh gSaA     Ans : 1 

25. Statements:  No paper is thin.  

    All thins are circulars. 

    No circular is a metal.  

Conclusions:   I. All metals being thin is a possibility. 

    II. Some papers are not circulars. 

    dFku % dksbZ isij fFku ugha gSaA 

           lHkh fFku ldZqyj gSaA 
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           dksbZ ldZqyj esVy ugha gSaA 

    fu’d’kZ % I. lHkh esVy ds fFku gksus dh laHkkouk gSA 

    II. dqN isij ldZqyj ugha gaSA        Ans : 4 

Directions (Q. 26-30): In each question below is given a statement followed by two assumptions numbers I and 

II. An Assumption is something supposed or taken for granted. You have to consider statement and the 

following assumption and decide which of the following assumption is implicit in the statement. 

Give Answer. 

(1) If only I is implicit.   (2) If only II is implicit. 

(3) If either I or Ii is implicit.   (4) If neither I nor II is implicit. 

(5) If both I and II are implicit. 

funsZ”k ¼iz”u 26&30½% uhps fn, x, ÁR;sd Á:u esa igys ,d dFku fn;k x;k gS fQj mlds uhps nks iwoZ/kkj.kk,¡ ftUgsa I o II Øekad fn, 

x, gSaA dksbZ iwoZx`ghr ;k eku yh xbZ ckr iwoZ/kkj.kk dgykrh gSA vkidks dFku vkSj mlds uhps nh xbZ iwoZ/kkj.kkvksa ij fopkj djuk gSa 

vkSj fQj r; djuk gS fd dkSu lh iwoZ/kkj.kk dFku esa vUrfuZfgr gSA 

mÙkj nhft,A 

¼1½ ;fn dsoy iwoZ/kkj.kk I vUrfufgr gSA  ¼2½ ;fn dsoy iwoZ/kkj.kk II vUrfufgr gSA 

¼3½ ;fn ;k I ;k II vUrfufgr gSA   ¼4½ ;fn u I u II vUrfufgr gSA 

¼5½ ;fn I o II vUrfufgr gSA 

 

26. Statement:  The largest domestic airlines corporation has announced new summer schedules in  which 

more number of flights in trunk routes are introduced. 

    Assumption: I. more number of passengers may travel by this airlines corporation during  summer 

months in trunk routes. 

                        II. Other airlines companies may also increase the number of flights in all the  sectors. 
   dFku% lcls cM+s ?kjsyw ,;jykbUl dkjiksjs”ku us xfeZ;ksa dh ubZ vuqlwph tkjh dh gS ftlesa eq[; ekxksZa ij vkSj vf/kd mM+kusa “kq: dh 

xbZ gSA 

   iwoZ/kkj.kk,% I. gks ldrk gS xfeZ;ksa ds bu efguksa esa eq[; ekxksZ ij bl ,;jykbu dkjiksjs”ku ls vf/kd la[;k esa ;k+=h ;k=k djsxsA 

      II. gks ldrk gS nwljh ,;jykbu daifu;k¡ Hkh bu lHkh lsDVjksa ij mM+kuksa esa  o`fn~/k dj nsaA   Ans : 1 

 

27. Statement: The chairman of the company decided to hold a grand function to celebrate Opening ceremony 

during the next weekend and invited a large number of guests. 

    Assumption: I. The company officials may be able to make all the necessary preparations for the Opening 

ceremony celebration. 

                      II. Majority of the guest invited by the chairman may attend the function. 
   dFku% daiuh ds v/;{k us vxys lIrkgkar ds nkSjku ubZ daiuh ds mn~?kkVu eukus ds fy, HkO; dk;ZØe djus dk fu.kZ; fy;k vk Sj cM+h 

la[;k esa esgekuksa dks cqyk;kA 

    iwoZ/kkj.kk,% I. gks ldrk gS daiuh ds vf/kdkjh mn~?kkVu lekjksg dh lHkh vko”;d rS;kfj;k¡ dj ysaxsA 

      II. gks ldrk gS v/;{k no~kjk vkeaf=r vf/kdka”k esgeku dk;ZØe esa vk,A     Ans : 5 

 

28. Statement: The largest mobile manufacturing company slashed the prices of most of the mobiles  models 

by about 15 percent with immediate effect. 

   Assumption: I. The company may incur heavy losses due to reduction in prices of the mobile. 

                       II. The sales of mobile manufactured by the company may increase substantially in  the 

near future. 
   dFku% eksckby fuekZrk lcls cM+h daiuh us eksckby ds vf/kdka”k ekWMyksa dh fderksa esa rRdky ÁHkko ls yxHkx 15 Áfr”kr deh dj 

nhA 

    iwoZ/kkj.kk,% I. gks ldrk gS eksckby dh fderksa esa deh dss dkj.k daiuh dks Hkkjh ?kkVk gsk tk,A 

      II. gks ldrk gS fudV Hkfo’; esa daiuh no~kjk fufeZr eksckby dh fcØh esa dkQh T;knk o`fn~/k gks tk,A  Ans : 2 
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29. Statement: The school authority decided to start summer vacation courses during summer. 

    Assumption: I. The parents of the school students may protest against the decision of the school authority. 

                       II. Most of the student may join the courses. 
   dFku% Ldwy Ákf/kdkfj;ksa us xehZ dh NqfV~V;ksa ds nkSjku fofHkUu xzh’e dkyhu dkslksZa dks pykus dk fu.kZ; fy;k gSA 

   iwoZ/kkj.kk,% I. gks ldrk gS Ldwy ds Nk=ksa ds ekrk&firk Ldwy Ákf/kdkfj;ksa ds fu.kZ; dk fojks/k djsaA 

      II. gks ldrk gS cgqr ls cPpsa bu dk;ZØeksa esa Hkkx ysaA      Ans : 2 

 

30. Statement: The local civic body has increased water supply about 30% to tide over water crisis. 

    Assumption: I. This may reduce the water problems of residence. 

                         II. Many activities may welcome the civic body’s move. 
   dFku% ikuh ds ladV dks de djus ds fy, LFkkuh; uxj fudk; us is; ty vkiwfrZ dks yxHkx 30 Áfr”kr c<+k fn;k gSA 

   iwoZ/kkj.kk,% I. gks ldrk gS dbZ fuokfl;ksa dh is; ty deh iw.kZ gks tk,A 

     II. gks ldrk gS dbZ dk;ZdrkZ uxj fudk; dh bl dkjZokbZ dk Lokxr djsaA    Ans : 1 

 

 

Directions (Q. 31-35): In each of the following questions a statement is given followed by two courses of 

Action. A Courses of Action is taken for improvement, follow up etc. Read the statement carefully and give 

answer. 

(1) If only Course of Action I follows.   (2) If only Course of Action II follows 

(3) If either Course of Action I or II follows   (4) If neither Course of Action I nor II follows. 

(5) If both Course of Action I and II follows 
funsZ”k ¼Á”u 31&35½% uhps fn, ÁR;sd Á”u esa ,d o nks dk;Zokfg;k¡ gSaA dksbZ Hkh dk;Zokgh fdlh lq/kkj ;k vkxs dh fØ;k vkfn gksrh gSA 

mÙkj nhft,A 

¼1½ ;fn dsoy dk;Zokgh I lgh gSA   ¼2½ ;fn dsoy dk;Zokgh II lgh gSA 

¼3½ ;fn dsoy dk;Zokgh I ;k II lgh gSA  ¼4½ ;fn nksuksa dk;Zokfg;k¡ I o II lgh ughs gSA 

¼5½ ;fn nksuksa dk;Zokfg;k¡ I o II lgh gSA 

 

31. Statement:  Army has caught some terrorist with heavy arms and warheads in the city. 

     Course of Action: I.   Police should be instructed for night patrolling. 

                                    II. The three persons should be set free and their movements should be carefully watched 

to nab the other criminals. 
   dFku% lsuk us dqN vkradokfn;ksa dks Hkkjh gfFk;kj vkSj xksykck:n ds lkFk “kgj esa idM+k gSA 

   dk;Zokgh% I. iqfyl dks jkr dh x”r ds funsZ”k nsus pkfg,A 

     II. vU; vijkf/k;ksa dks idM+us ds fy, rhuksa O;fDr;ksa dks NksM+dj vudh xfrfof/k;ksa ij /;kuiwoZd utj j[kuh pkfg,A 

          Ans : 4 

32. Statement: Weather expert reported that severe drought is to have set in several parts of the  country. 

     Course of Action:  I.  Government should immediately make arrangements for providing financial assistance 

to these affected. 

                                   II.  Food, water and fodders etc. should immediately be sent to all these areas to save the 

people and cattle. 
   dFku% ekSle foHkkx us ns”k ds fofHkUu Hkkxksa ls xaHkhj lw[ks dh lwpuk nh gSA 

   dk;Zokgh% I. ljdkj dks rqjar ÁHkkfor yksxksa ds fy, foÙkh; lgk;rk Ánku djus ds fy, O;oLFkk djuh pkfg,A 

     II. yksxksa vkSj i”kqvksa dks cpkus ds fy, rqjar Hkkstu] ikuh vkSj pkjk vkfn bu  lHkh {ks=ksa ds fy, Hkstk tkuk pkfg,A 

          Ans : 5 
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33. Statement:  At least 15 people were killed and many other injured when a bus fell into a river near  a 

bridge. 

      Course of Action:  I. The government should takes make arrangements to prevent such incidents. 

                       II. The bus driver should be arrested immediately to make necessary inquiry. 
   dFku% ,d iqy ds ikl ,d cl unh esa fxj xbZ ftlls de ls de 15 yksx ekjs x, vkSj dbZ vU; ?kk;y gks x,A 

   dk;Zokgh% I. ,slh nq?kZVukvksa ls cpus ds fy, ljdkj dks iqy dh lqj{kk ds O;kid bartke djus pkfg,A 

    II. vko”;d tkap dj cl Mªkboj dks rqjar fxjQ~rkj dj ysuk pkfg,A 

            Ans : 1 

34. Statement:  Due to instability in food prices in present, business expert expect that price of onions  can 

increase in the country. 

    Course of Action:  I. The government of the country should purchase sand store sufficient quantity of 

onions in advance to control price. 

                                    II. The government of country should make available network to fan price for the sale of 

onions period of shortage. 
   dFku% orZeku [kk| ewY;ksa dh vfLFkjrk ds pyrs] O;kikj fo”ks’kKksa dk ekuuk gS fd I;kt dh fderks esa ns”k esa fQj ls o`fn~/k gks ldrh 

gSA 

   dk;Zokgh% I. I;kt ds eqY; fu;a=.k dks vfxze djus ds fy, ns”k dh ljdkj dks i;kZIr  ek=k esa I;kt [kjhndj LVksj djuk pkfg,A 

     II. I;kt dh deh dh vof/k esa lLrh fcØh ds fy, ljdkj dks miyC/k usVodZ cukus pkfg,A 

          Ans : 5 

35. Statement:  The announced strike of public road transporters made the daily life lame. 

    Course of Action: I. The administrators of the city should consider the demands of the transporters. 

                                   II. The administrators should give the additional facilities of public road transporters 

during the strike period. 
   dFku% lkoZtfud lM+d ifjogu dh gM+rky dh ?kks’k.kk us nSfud thou dks yaxM+k cuk fn;k gSA 

   dk;Zokgh% I. “kgj ds Á”kkld dks VªkaliksVZjksa dh ekax ij fopkj djuk pkfg,A 

     II. Á”kkldksa dks gM+rky dh vof/k ds nkSjku lkoZtfud lM+d ifjogu ds vfrfjDr lqfo/kk,¡ nsuh pkfg,A 

            Ans : 5 

36. The primary purpose of software is to turn data into ______ 

      lk¶WVos;j esa MkVk _________ ds :i esa jgrk gS 

(1) websites  (2) programs  (3) information   

(4) objects  (5) None of these      Ans : 3 

37. When sending an e-mail, the _______ line describes the contents of the message 

      Tc fdlh dks e-mail Hkstk tkrk gS rks ________ ykbu ml eslst ds ckjs esa crkrk gS% 

(1) To   (2) Subject  (3) Contents  

(4) CC   (5) Body       Ans : 2 

38. The _________ of software contains lists of commands and options : 
      fdlh lk¶WVos;j esa dekUM o vkWi”ku dh lwph dgk¡ ij jgrk gS% 

(1) menubar  (2) title bar  (3) formula bar  

(4) toolbar  (5) None of these      Ans : 1 

39. Background colour or effects applied on a document is not visible in : 
     fdlh MkD;wesUV ij Mkyk x;k cSdxzkmaM dyj o ,QsDVl dgka ij fn[kkbZ ugha nsrs% 

(1) Web layout view  (2) Print layout view  (3) Reading view  

(4) Print preview  (5) None of these     Ans : 4 

40. In Ms-Word the key F-12 opens a  

     Ms-Word esa dqath F-12 [kksyrk gS% 

(1) Save As dialog box  (2) Open dialog box  (3) Save dialog box  

(4) Close dialog box  (5) None of these     Ans : 1 
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41. FORTRAN is developed and introduced by : 

      FORTRAN fdlus cuk;h vkSj dkSu ysdj vk;k Fkk\ 

(1) SONY  (2) SEGATE  (3) MICROSOFT  

(4) IBM  (5) NETWARE       Ans : 4 

42. All the element in an array must be of the : 
      esa lHkh ,fyesUV dSls gksus pkfg, % 

(1) any data type  (2) same data type (3) any condition  

(4) same name  (5) None of these      Ans : 2 

43. RIP stands for 

     RIP dk iw.kZ :i gS % 

(1) Routing Information Protocol  (2) Resource Internet Protocol   

(3) Randomly Interchange Protocol  (4) Rapid Internet Protocol  

(5) None of these         Ans : 1 

44. When you use two arguments in a function separate them with a _______ 
      Tkc ge fdlh QaD”ku esa nks osY;qt Mkyrsa gSa rks mUgsa vyx n”kkZus ds fy, fdldk iz;ksx djrs gSa\ 

(1) .(dot)  (2) ,(comma)  (3) * (asteric)  

(4) /(slash)  (5) None of these      Ans : 3 

45. You can see the preview of the document by pressing ______ 
       fdlh Hkh MD;wesUV dk fizfo;q ns[kus ds fy, vki D;k nck,¡xsa\ 

(1) Alt + Ctrl + I (2) Alt + Ctrl + S (3) Alt + Ctrl + 1  

(4) Alt + Ctrl + M (5) None of these      Ans : 1 

     

Mathematics 
Directions (46-50): Study the table and answer the given questions.  

 

Data related to number of employees in 5 different companies in December, 2012 

ik¡p fofHkUu daifu;ksa ds bEIykWbl dh fnlacj] 2012 la[;k ls lacaf/kr vk¡dM+s  
daifu;k¡ bEIykWbl dh dqy bEIykWbl ds la[;k  

 dqy la[;k    
 

 
foKku Lukrd  okf.kT; Lukrd dyk Lukrd 

 dh Áfr”kr dh Áfr”kr dh Áfr”kr 

    okf.kT; Lukrd 

     

M  1050  32%  ...  ...  

N  700  ...  31%  40%  

O ...  30%  30%  ...  

p  ...  …  40%  20%  

Q  ...  35%  50%  ...  

Note:  I. Employees of the given companies can be categorized only in three types:  

 fn; gq, daifu;ksa ds bEIykWbl dk fuEuakafdr rhu Jsf.j;ksa esa ck¡Vk tk ldrk gSSA 

 Science graduates, Commerce graduates and Arts graduates   

 foKku Lukrd] okf.kT; Lukrd vkSj dyk LukrdA 

 II. Few values are missing in the table (indicated by ...). A candidate is expected to calculate the 
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missing value, if it is required to answer the given questions, on the basis of the given data and information.  

 dqN vk¡dM+s Vscy esa NqVs gSA ¼ftls ------ ls vafdr fd, gSA½  

 fdlh vH;FkhZ ls xk;c vk¡dM+ks dks x.kuk djus vkSj miZ;qDr fn, x, vk¡dM+ksa vkSj lwpuk ds vk/kkj ij fuEukafdr Á”uksa ds mÙkj 

 nsus dh vk”kk dh tkrh gSA 

46. What is the difference between the number of Arts graduate employees and Science graduate employees in 

Company N?  

    daiuh N esa dyk Lukrd bEIykWb vkSj foKku Lukrd bEIykWb ds la[;k esa D;k varj gS\ 

 (1) 87    (2) 89    (3) 77    (4) 81     (5) 73 

            Ans : 3 

47. The average number of Arts graduate employees and Commerce graduate employees in Company Q  was 

312. What was the total number of employees in Company Q? 

      daiuh Q esa dyk Lukrd bEIykWb vkSj okf.kT; Lukrd bEIykWb dh vkSlr la[;k 312 FkhA rks daiuh Q esa dqy deZpkfj;ksa dh la[;k 

D;k Fkh  

 (1) 920   (2) 960    (3) 1120    (4) 1040   (5) 1080  

            Ans : 2 

48. If the respective ratio between the number of Commerce graduate employees and Arts graduate employees 

in Company M was 10 : 7, what was the number of Arts graduate employees in M? 

vxj daiuh M esa okf.kT; Lukrd vkSj dyk Lukrd deZpkfj;ks dk lacaf/kar vuqikr 10 % 7 gSA rks daiuh M esa dyk Lukrd 

deZpkfj;ksa dh la[;k Kkr djsaA 

 (1) 294   (2) 266   (3) 280   (4) 308    (5) 322 

            Ans : 1 

49. Total number of employees in Company N increased by 20% from December, 2012 to December, 2013, If 

20% of the total number of employees in Company N in December, 2013 was Science graduates, what was 

the number of Science graduate employees in Company N in December, 2013 ? 

fnlacj 2012 ls fnlacj 2013 ds chp daiuh N ds deZpkfj;ksa dh la[;k esa  20% dh o`fö gksrh gSA vxj daiuh N ds fnlacj 2013 

ds dqy deZpkfj;ksa dh 20% foKku Lukrd Fks rks diuh N ds fnlacj 2013 esa foKku deZpkfj;ksa dh dqy la[;k fdruh Fkh\ 

 (1) 224   (2) 266   (3) 168   (4) 252   (5) 238  

            Ans : 3 

50. Total number of employees in Company P was 3 times the total number of employees in Company O. If the 

difference between number of Arts graduate employees in Company P and that in Company O was  180, 

what was the total number of employees in Company 0?  

daiuh P ds dqy deZpkfj;ksa dh la[;k daiuh O esa dqy deZpkfj;ksa dh la[;k ds frxquh FkhA vxj daiuh P vkSj daiuh O ds dyk 

Lukrd deZpkfj;ksa ds chp vUrj 180 dk gS rksa daiuh O ds deZpkfj;ksa dh la[;k fdruk gksxh\ 

 (1) 1200    (2) 1440    (3) 720    (4) 900    (5) 1080 

            Ans : 4 

Directions (Q. 51-55): Refer to the graph and answer the given question. 
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51. The number of gloves sold in Town B increased by what percent from October to December? 

      “kgj B esa vDVwcj ls fnlacj rd n:rkuksa ds fcØh dh la[;k esa gqbZ c<+ksrjh\ 

 (1) 
2

165
3

% (2) 
1

161
3

% (3) 
1

164
2

% (4) 
2

166
3

% (5) 
1

162
2

%  Ans : 2 

52. What is the difference between the total number of gloves sold in both the towns together in January and the 

total number of gloves sold in both the towns together in February?  

nksa “kgjksa A rFkk B esa tuojh ekg esa fcds dqy nLruksa dh la[;k vkSj nksuks “kgjksa A rFkk B esa Qjojh ekg esa fcdsa dqy nLrkuksa dh 

la[;k dk varj D;k gS\ 

 (1) 280%  (2) 270%  (3) 290%   (4) 260% (5) 250%  Ans : 4 

53. The number of gloves sold in town A in November is hat percent more than the number of gloves sold in 

Town B in the same months? 

     uoacj ds eghusa esa “kgj A esa fcds dqy nLrkus uoacj ekg esa gh “kgj B esa fcds dqy nLrkuksa ls fdruk Áfr”kr vf/kd gS\ 

 (1) 32%  (2) 28%   (3) 25%  (4) 30%  (5) 20%  Ans : 4 

54. What is the average number of gloves sold in Town A in October, November, December and March? 

      “kgj A esa vDVwcj] uoacj] fnlacj vkSj ekpZ ds eghus esa fcds dqy nLrkuksa dk vkSlr D;k gS\ 

  (1) 215  (2) 220  (3) 225  (4) 210  (5) 205   Ans : 5 

55. The total number of gloves sold in Town B in September is 20% less than the number of gloves sold in the 

same town in October. What is the respective ratio between the number of gloves sold in September  and 

those sold in December in the same town? 

“kgj B esa flracj ekg esa fcds dqy nLrkus vDVwcj ekg dh vis{kk 20% de gSA mlh “kgj esa flracj ekg vkSj fnlacj ekg esa fcds 

dqy nLrkuksa dk Øe”k% vuqikr D;k gS\ 

 (1) 2:9   (2) 1:5   (3) 2 : 7  (4) 4: 9   (5) 3 : 10  Ans : 3 

 

Directions (56-60): Study the following information and answer the questions that follows:  

 

The premises of a bank are to be renovated. The renovation is in terms of flooring. Certain areas are to be 

floored either with marble or wood. All rooms/halls and pantry are rectangular. The area to be renovated 

comprises of a hall for customer transaction measuring 23 m by 29 m, branch manager's room measuring 13 m 

by 17 m, a pantry measuring 14 m by 13 m, a record keeping cum server room measuring 21 m by 13 m and 

locker area measuring 29 m by 21 m. The total area of the bank is 2000 square metres. The cost of wooden 
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flooring is Rs. 170 per square metre and the cost of marble flooring is Rs. 190 per square metre. The locker 

area, record keeping cum server room and pantry are to be floored with marble. The branch manager's room and 

the hall for customer transaction are to the floored with wood. No other area is to be renovated in terms of 

flooring. 

 

fdlh cSad ds ifjlj dk uohdj.k dk;Z gksuk gSA ;g uohdj.k dk;Z Q”kZ ls lacaf/kr gSA dqN {ks=ksa esa ekcZy dk vkSj dqN {ks=ksa esa ydM+h dk 

Á;ksax gksuk gSA lHkh dejsa@Á”kky ,oa HkaMkj vk;rkdkj gSA ftu {ks=ksa dk uohdj.k gksuk gS mlesa xzkgdksa ds ysu&nsu laca/kh Á”kky tks 

23m x 29m “kk[kk Áca/kd ds dk;kZy; dk dejk tks 13m x 17m ,d HkaMkj d{k ftldh yEckbZ pkSM+kbZ 14m x 13m vfHkys[kkxkj lg 

ifjlsod d{k ftldh ya0 pkS0 21m x 13m ,d ykWdj {ks= ftldh ya0 pkS0 29m x 21m “kkfey gSA cSad dk dqy {ks=Qy 2000 oxZ 

ehVj gSA ydM+h ls lacaf/kr uohdj.k dk;Z esa :0 170 Áfr oxZ ehVj vkSj ekcZy ls uohdj.k dk;Z esa : 190 Áfr oxZ ehVj dk [kpZ yxrk 

gSA ykWdj {ks=] vfHkys[kkxkj lg ifjlsod d{k vkSj HkaMkj d{k dk uohdj.k ekcZy ls gksuk gSA “kk[kk Áca/kd d{k vkSj xzkgdksa dk ysu&nsu 

Á”kky dk uohdj.k ydM+h ls gksuk gSA vkSj fdlh Hkh Á{ks= esa Q”kZ dk uohdj.k dk,Z ugha gksuk gSA 

 

56. What is the respective ratio of the total cost of wooden flooring to the total cost of marble flooring?  

      ydM+h ls lacaf/kr Q”kZ ds uohdj.k esa yxs [kpZ dk ekcZy ls lacaf/kr uohdj.k ls lacaf/kr vuqikr D;k gksxk\ 

 (1) 1879: 2527    (2) 1887: 2386   (3) 1887: 2527   

 (4) 1829: 2527    (5) 1887: 2351    Ans : 3 

57. If the four walls and ceiling of the branch managers room (The height of the room is 12 metres) are to be 

painted at the cost of Rs. 190/- per square metre, how much will be the total cost of renovation of the branch 

manager's room including the cost of flooring ? 

    vxj “kk[kk Áca/kd d{k ds pkjksa nhokjksa vkSj Nr ¼vxj dejs dh m¡pkbZ 12 eh0 gS½ dks jaxus dk [kpZ : 190 Áfr oxZ ehVj gks rks   

“kk[kk Áca/kd ds dejs ds uohdj.k dk;Z esa yxk dqy [kpZ ¼Q”kZ ds uohdj.k½ ds lkFk fdruk gksxk\ 

 (1) Rs. 1,36,800/-    (2) Rs. 2,16,660/-   (3) Rs. 1,78,790/-   

 (4) Rs. 2,11,940/-    (5) None of these     Ans : 5 

58. If the remaining area of the bank is to be carpeted at the rate of Rs. 110 per square metre, how 

much will be the increment in the total cost of renovation of bank premises? 

vxj cSad ds cps {ks= esa : 110 Áfr oxZ ehVj ds fglkc ls dkyhu fcNkuk gks rks cSad ds ifjlj ds uohdj.k dk;Z ij dqy fdruk 

vf/;O;; gksxk\ 

 (1) Rs. 5,820/-    (2) Rs. 4,848/-   (3) Rs. 3,689/- 

 (4) Rs. 6,890/-    (5) None of these   Ans : 5 

59. What is the percentage area of the bank that is not to be renovated? 

      cSad ifjlj dk og {ks= ftldk uohdj.j ugha gksuk gS dqy {ka= dk fdruk Áfr”kr gS\ 

 (1) 2.2%  (2) 2.4%   (3) 4.2%      (4) 4.4%  (5) None of these 

Ans : 2 

60. What is the total cost of renovation of the hall for customer transaction and the locker area? 

      xzkgd ysu&nsu Á”kky ,oa ykWdj {ks= ds uohdj.k ij yxk dqy [kpZ fdruk gS\ 

 (1) Rs. 2,29,100/-    (2) Rs. 2,30,206/-   (3) Rs. 2,16,920/-   

 (4) Rs. 2,42,440/-     (5) None of these   Ans : 1 

Directions (61-65) : Study the following information and answer the questions that follow: 
 

The Graph given below Represents the Production (in Tonnes) and sales (in tonnes) of Company A from 2006 - 
2011 
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uhps xzkQ esa esa daiuh A }kjk o’kZ 2006&2011 ds nkSjku mRiknu ¼Vu esa½ vkSj fcØh (in tonnes) dks fn[k;k x;k gSA 

 
 

 

 
 

 

 
 

 

 
 

 

 
 

The table given below represents the respective ratio of the production (in tonnes) of Company A to the 

production (in tonnes) of Company B, and the respective ratio of the sales (in tonnes) of Company A to the 
sales (in tonnes) of Company B. 
uhps Vscy esa daiuh A dk dsiuh B ds mRiknu ls lacaf/kr vuqikr rFkk daiuh A rFkk daiuh B ds fdØ ls lacaf/kr vuqikr fn, x, gSaA 

 

 

 
 

 

 
 

 

 
 

 

 

61. What is the approximate percentage increase in the production of Company A (in tonnes) from the year 

2009 to the production of Company A (in tonnes) in the year 2010? 

     daiuh A ds 2009 ds mRiknu dh vis{kk 2010 esa gq, dqy c<+ksrjh dk yxHkx fdruh Áfr”kr o`fö gqbZ gS\ 

 (1) 18%   (2) 38% (3) 23%   (4) 27%  (5) 32%   Ans : 4 

62. The sales of Company A in the year 2009 was approximately what percent of the production of Company A 

in the same year? 

     o’kZ 2009 esa daiuh A dh fdØh mlh o’kZ mlh daiuh }kjk gq, mRiknu dk fdruk Áfr”kr ¼yxHkhx½ gS\ 

 (1) 65%  (2) 73%  (3) 79%  (4) 83%  (5) 69%    Ans : 2 

63. What is the average production of Company B (in tonnes) from the year 2006 to the year 2011? 

     daiuh B dk o’kZ 2006 ls 2011 rd ds dqy mEiknu dk vkSlr D;k gS\   

 (1) 574  (2) 649  (3) 675  (4) 593  (5) 618   Ans : 3 

64. What is the respective ratio of the total production (in tonnes) of Company A of the total sales (in  tonnes) 

of Company A? 

     daiuh A ds dqy mRiknu dk vkSj daiuh A ds dqy fcØh dk lacaf/kr vuqikr D;k gS\ 
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 (1) 81 : 64 (2) 64 : 55 (3) 71 : 81 (4) 71 : 55 (5) 81 : 55  Ans : 5 

65. What is the respective ratio of production of Company B (in tonnes) in the year 2006 to production of 

Company B in the year 2006 to production of Company B (in tonnes) in the year 2008? 

 daiuh B ds o’kZ 2006 ds dqy mRiknu dk daiuh B ds gh o’kZ 2008 ds dqy mRiknu ls lacaf/kr vuqikr D;k gksxk\ 

 (1) 2 : 5 (2) 4 : 5 (3) 3 : 4 (4) 3 : 5 (5) 1 : 4  Ans : 3 

 

Directions (Q. 66-67): In this question, two equations numbered I and II have been given. You have to solve 

both the equations and mark the correct answer. 

 

66. I.  24 29 45 0x x    

 II. 23 19 28 0y y    

 (1) x < y    (2) x > y  

 (3) x ≥ y    (4) x ≤ y 

 (5) relationship between x and y cannot be established    Ans : 5 

67. I. 22 13 21 0x x    

 II. 25 22 21 0y y    

 (1) x < y    (2) x > y  

 (3) x ≥ y    (4) x ≤ y 

 (5) relationship between x and y cannot be established    Ans : 3 

 

Directions (Q. 68–69): What will come in the place of (?) in the given number series? 

funsZ”k ¼iz”u 68&69½% fuEufyf[kr la[;k Jà[kyk esa iz”u fpà ¼\½ ds LFkku ij D;k vk,xk\ 

 
68. 179, 180, 172, 199, ? 

 (1) 236   (2) 272   (3) 240   (4) 256   (5) 260 

            Ans : 5 

69. 14, 6, 5, 6.5, 12, ? 

 (1) 29   (2) 27   (3) 23   (4) 33   (5) 35 

            Ans : 1 

Directions (Q. 70-71): What appropriate value will come in the place of the question mark (?) in the given 

question? (You are not expected to calculate the exact value) 

funsZ”k ¼iz”u 70&71½% fuEufyf[kr iz”uksa esa iz”u fpà ¼\½ ds LFkku ij yxHkx D;k eku vkuk pkfg,\ ¼uksV% vki ls lgh ewY; dh x.kuk djus dh 

mEehn ugha dh xbZ gSA½ 

 

70. 1439 ÷ 16 × 14.99 + 228 ?  

 (1) 1315  (2) 1365  (3) 1215  (4) 1465  (5) 1265 

            Ans : 2 

71. 
211.92  + 

216.01 = 
2? × 

23.85  

 (1) 15   (2) 2   (3) 4   (4) 5   (5) 12 

            Ans : 4 
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Directions (Q. 72-75): Answer the following questions after study carefully the given radar graph: 
 

  100
Income Expenditure

Expenditure


  

funsZ”k ¼72&75½% fuEufyf[kr jkMkj xzkQ dk lko/kkuhiwoZd v/;;u dj uhps fn, x, Á”uksa ds mÙkj nsaA 

 

 

 
 

 
 

72. In the year 206, the profit of firm A as represented in annual accounting is 20 percent. Find out the expenses 

made by the firm in that year? 

 1) Rs. 250000   2) Rs. 275000   3) Rs. 175000 

 4) Rs. 150000   5) Rs. 245200     

   o’kZ 2006 esa Áfr’Bku A ds okf’kZd ys[kk&tks[kk esa fn;k x;k ykHk Áfr”kr 20 gSA Kkr dhft, ml o’kZ Áfr’Bku dk O;; D;k jgk 

gksxk\ 

 1½ :0 250000   2½ :0 275000   3½ :0 175000 

 4½ :0 150000   5½ :0 245200      Ans : 1 
 

73. If the expenses made by the firm C in the year 2007 was Rs. 1.75 lakh, then what was the percentage of 

profit in that year? 

 1) 38-29%   2) 42-86%   3) 53-41% 

 4) 58-64%   5) None of these 
    ;fn Áfr’Bku C dk o’kZ 2007 esa O;; :0 1-75 yk[k Fkk] rkc ykHk Áfr”kr D;k jgk gksxk\ 

 1½ 38-29%   2½ 42-86%   3½ 53-41% 

 4½ 58-64%   5½ buesa ls dksbZ ugha     Ans : 2 
 

74. Find the average income made by the firm A in whole period. 

 1) Rs. 275000   2) Rs. 3000000   3) Rs. 2750000 

 4) Rs. 300000   5) None of these 
    Áfr’Bku A dh lHkh o’kksaZ esa gqbZ vkSlr vk; Kkr dhft,A 

 1½ :0 275000   2½ :0 3000000   3½ :0 2750000 

Áfr’Bku & A 

Áfr’Bku & B 

Áfr’Bku & C 
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 4½ :0 300000   5½ buesa ls dksbZ ugha     Ans : 5 
 

75. What is the increase in percentage of profit of the year 2010 in Company of the previous year? 

 1) 2008   2) 2010   3) 2007 

 4) 2006   5) None of these 
   o’kZ 2010 esa fiNys o’kZ dh rqyuk esa Áfr’Bku B dh vk; esa fdrus Áfr”kr dh of̀ö ntZ dh xbZ gS\ 

 1½ 28%    2½ 11%    3½ 17% 

 4½ 33%    5½ 22%       Ans : 4 

 

Directions (Q. 76-80): Study the table and information given below and answer the following questions: 

 

A survey was done by the Central Road and Transport Ministry regarding use of medium of transport in five cities. All the 

information are mentioned in a triangular form. The respective five cities are Pune, Kanpur, Raisen, Surat and 

Thiruvananthpuram and the number of people considered in survey are 2000, 4000, 6000, 3000 and 8000 respectively. 

The medium of transportation are take to be trains buses and cars. 
 

funsZ”k ¼Á0 76&80½%  fuEu nh xbZ tkudkjh vkSj vkjs[k dk /;kuiwoZd v/;;u djds] uhps fn, Á”kuksa ds mÙkj nhft,A 

dsUnzh; lM+d ,oa ifjogu ea=ky; }kjk ik¡p “kgjksa esa yksxksa }kjk ifjogu ds fufeZr ek/;eksa ds Á;ksx ls lacaf/kr ,d losZ{k.k djok;k x;k] 

ftldk fu:i.k fuEu f=Hkqth; vkjs[k esa gSA ;s ik¡p “kgj Øe”k% iq.ks] dkuiqj] jk;lsu] lwjr rFkk f=osane gSa ftuesa losZ{k.k esa lfEefyr 

yksxksa dh la[;k Øekuqlkj 2000] 4000] 6000] 3000 o 8000 gS rFkk ifjogu dh ÁkFkfedrk ds fy, p;u Vªsu] cl rFkku dkj gSA 

 

 

 

76. In which city is the number of users of buses is least? 

 1) Surat  2) Raisen 3) Thiruvananthpuram 4) Pune  5) None of these 
   fdl uxj esa clksa ds Á;ksx dh la[;k lcls de gS\ 

 1½ lwjr  2½ jk;lsu 3½ f=osane 4½ iq.ks  5½ buesa ls dksbZ ugha Ans : 4 
 

77. What is the average number of people residing other than Surat and use trains? 

 1) 1880  2) 1950  3) 1750   4) 1920  5) None of these 
   lwjr ds vfrfjDr vU; “kgjksa esa Vªsu dk Á;ksx djus okys yksxksa dh la[;k dk vkSlr D;k gS\ 

 1½ 1880  2½ 1950  3½ 1750  4½ 1920  5½ buesa ls dksbZ ugha Ans : 1 
 

78. Which means of transportation is used least by the people of all cities? 

 1) Train  2) Car  3) Bus   4) (b) and (c) both 5) None of the above 
  lHkh “kgjksa esa lcls de Á;ksx esa yk;k tkus okyk ifjogu dk lk/ku dkSu&lk gS\ 

 1½ Vªsu  2½ dkj  3½ cl  4½ ¼2½ vkSj ¼3½ nksuksa  5½ mijksDr esa ls dksbZ ugha 

            Ans : 3 
 

79. Out of five cities, in which of them, the number of users of cars is less than 30%? 

 1) Kanpur and Thiruvananthpuram  2) Pune and Raisen 
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 3) Pune, Kanpur and Raisen   4) Pune, Kanpur and Surat 

 5) None of the above 
    ik¡p “kgjksa esa ls fdu “kgjka esa 30% ls de yksx dkj dk Á;ksx ifjogu gsrq djrs gSa\ 

 1½ dkuiqj ,oa f=osane   2½ iq.ks ,oa jk;lsu   3½ iq.ks] dkuiqj ,oa jk;lsu 

 4½ iq.ks] dkuiqj ,oa lwjr  5½ mijksDr esa ls dksbZ ugha     Ans : 2 
 

80. Which of the following statement is incorrect? 

 1) the number of people using train for transportation in Kanpur and Raisen is 50% of the people in them. 

 2) In the cities if Surat and Pune, maximum number of people uses buses for transportation. 

 3) In the city of Thiruvananthpuram, more than 50% of people uses car. 

 4) In the city of Raisen, maximum number of people uses trains instead of buses. 

 5) None of the above 
   fuEu esa ls dkSu&lk dFku lR; ugha gS\ 

 1½ dkuiqj ,oa jk;lsu esa 50% yksx Vªsu dk Á;ksx ifjogu ds fy, djrs gSa 

 2½ “kgj lwjr rFkk iq.ks esa vf/kdrj yksx ifjogu ds fy, clksa dk Á;ksx djrs gSA 

 3½ “kgj f=osanze esa 50% ls vf/kd yksx dkj dk Á;ksx djrs gSA 

 4½ “kgj jk;lsu esa vf/kdrj yksx cl ds LFkku ij Vªsu dk Á;ksx djrs gSA 

 5½ mijksDr esa ls dksbZ ugha         Ans : 3 
 

General Awareness 

 

81. According to RBI, which one of the following is the biggest concern of the country? 
       Hkkjrh; fjtoZ cSad ds vuqlkj] fuEufyf[kr esa ls dkSu lk ns’k dh lcls cM+h fpark dk fo”k; gS] 

     1) Debt crisis in Europe ¼;wjksi esa _.k ladV½    

2) Inflation ¼eqækLQhfr½ 

 3) GDP growth  ¼ldy ?kjsyw mRikn dh fodkl nj½   

4) Fiscal deficit ¼jktdks’kh; ?kkVk½ 

5) None of these ¼buesa ls dksbZ ugha½       Ans : 2 

82. 'Mid Day Meal Scheme' has been launched to provide cooked food to 
       fdls idk;k gqvk Hkstu miyC/k djkus ds fy, ^e/;kgu Hkstu ;kstuk* “kq: dh xbZ gS\ 

        1) Children attending school ¼Ldwy tkus okys cPps½ 

2) Those who are getting National Old Age Pension ¼ftUgsa jk’Vªh; o)̀koLFkk isa”ku feyrk gks½ 

3) Workers of National Rural Employment Act ¼ jk’Vªh; xzkeh.k jkstxkj vf/kfu;e ds Jfed½ 

4) Resident doctors of Govt. Hospitals in rural areas ¼xzkeh.k {ks=ksa esa ljdkjh vLirkyksa d jsthMsaV MkWDVjksa½  

5) None of these ¼buesa ls dksbZ ugha½       Ans : 1 

83. Who amongst the following economists gave the concept of "economies of scale", which says "many goods and 

services can be produced more cheaply in long series"?  
       fuEufyf[kr esa ls dkSu ls vFkZ”kkL=h us ^iSekus dh vFkZO;oLFkkvksa* dh vo/kkj.kk fn;k gS] tks dgrh gS] ^^dbZ oLrqvksa vkSj lsokvksa yach J[̀yk esa 

vf/kd lLrs esa mRiknu fd;k tk ldrk gS**\ 

1) Edward C Prescott  2) Amartya Sen 

3) Gary S Becker  4) Edmund Phelps 

5) Paul Krugman         Ans : 5 

84. Very often we read in newspapers/magazines about "Sovereign Wealth Funds". Which of the following is/ are the 

correct description of the same?  
       ^^izHkqRo&lEiUu /ku fuf/k** ds ckjs esa ge cgqr ckj v[kckjksa@if=dkvksa esa i<+rs gSaA fuEufyf[kr esa ls dkSu lk@ls mlh dk lgh fooj.k gS@gSa\ 

(A) These are the funds are the reserves of a government or central bank of a country which are invested further to 

earn profitable returns.  
     ;s fuf/k ,d ljdkj ;k ,d ns”k ds dsaæh; cSad ds HkaMkj gSa tks ykHknk;d fjVuZ dekus ds fy, vkxs fuos”k fd, tkrs gSaA 

(B) These are the funds which were accumulated by some people over the years but were not put in active circulation 

as they retain them as Black Money for several years. 
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      ;s fuf/k gSa tks fiNys dqN o’kksZa esa dqN yksxksa }kjk tek fd, x, Fks ysfdu lØ; izpyu esa ugha Mkys x;s Fks D;ksafd os mls dkys /ku ds :Ik 

esa dbZ o’kksZa ls vius ikl j[ks gSaA 

(C) The funds which are created to be used as relief funds or bailout packages are known as sovereign funds.  
    oss fuf/k tks jkgr dks’k ;k [kSjkr ladqy ds :i esa bLrseky ds fy, cukbZ xbZ gS mls ^^izHkqRo&lEiUu /ku fuf/k** ds :i esa tkuk tkrk gSA  

1) Both B & C only  2) Only B 3) Only C    

4) Only A  5) None of these      Ans : 4 

85. Very often we read about Special economic Zones (SEZs) in newspapers. What is the purpose of promoting SEZs in 

India?  
      fo”ks’k vkfFkZd {ks= ¼lst½ ds ckjs esa cgqr ckj ge lekpkj i=ksa esa i<+rs gSaA Hkkjr esa fo”ks’k vkfFkZd {ks=ksa dks c<+kok nsus ds mÌs”; D;k gS\   

(A) They are established to promote exports. 
      os fu;kZr dks c<+ok nsus ds fy, LFkkfir fd, x, gSaA 

(B) They are established to attract investments from foreign countries. 
   os fons”kh ns”kksa ls fuos”k vkdf’kZr djus ds fy, LFkkfir fd, x, gSaA 

(C) They are established to help the poorest of the poor in India as the activities of these zones are reserved only for 

the poors and those living below poverty line.  
      os Hkkjr esa xjhc ls xjhc O;fDr dh enn djus ds fy, LFkkfir fd, x, gSa D;ksafd bu {ks=ksa dh xfrfof/k;k¡ dsoy xjhc vkSj xjhch js[kk ls 

uhps jgus okys yksxksa ds fy, vkjf{kr gSaA 

 l) Only A  2) Only B  

 3) Only C  4) Both A & B only  

5) None of these         Ans : 4 

86. Who amongst the following players recently became the first ever Indian to win a World championship in badminton?  
       gky gh esa fuEufyf[kr esa ls dkSu ls f[kykM+h us cSMfeaVu esa fo”o pSfEi;uf”ki thrus okyk@okyh igyh Hkkjrh; cu x;s gSa\ 

1) P Gopichand   2) Saina Nehwal 3) Aparna Popat   

4) Nandu M Natekar 5) None of these      Ans : 2 

87. India recently signed an agreement with which of the following countries so that they are allowed to deal smoothly 

with the problem of fishermen who cross the International Maritime Boundary Line? 
     gky gh esa fuEufyf[kr esa ls fdl ns”k ds lkFk Hkkjr us ,d le>kSrs ij gLrk{kj fd;k gS rkfd eNqvkjksa dks varjkZ’Vªh; leqæh lhek js[kk ikj djus 

dh leL;k dks lqpk: :i ls fuiVus ds fy, mUgsa vuqerh nh tk lds\ 

   1) Bangladesh  2) Sri Lanka  3) Pakistan  

 4) Myanmar  5) None of these       Ans : 2 

88. As per new revised rules now, Foreign Direct Investment in insurance sector is possible upto the limit of 
       vc u, la”kksf/kr fu;eksa ds vuqlkj] chek {ks= esa izR;{k fons”kh fuos”k dh lhek fdruk rd laHko gS\  

      1) 26%   2) 40%   3) 49%   

4) 70%   5) None of these       Ans : 3 

89. The ratio of the Cash Reserves that the banks are required to keep with the RBI is known as 
        cSadksa ds fy, Hkkjrh; fjtoZ cSad ds ikl j[ks tkus okys vko”;d udnh HkaMkj ds vuqikr dks D;k dgrs gSa\  

1) Liquidity Ratio ¼pyfuf/k vuqikr½ 2) SLR ¼,l,yvkj½ 3) CRR ¼lhvkjvkj½ 

4) Net Demand & Time Liability ¼fuoy ekax vkSj eh;knh ns;rkvksa½ 

5) None of these ¼buesa ls dksbZ ugha½       Ans : 3 

90. The availability of cash and other cash-like marketable instruments that are useful in purchases and investments are 

commonly known as 
      udnh vkSj vU; udnh&rjg ds foi.ku midj.kksa dh miyC/krk tks fd [kjhn vkSj fuos”k esa mi;ksxh gksrs gSa] mls lekU;r% D;k dgrs gSa\   

1) Cash crunch   2) Liquidity 

3) Credit   4) Marketability 

5) None of these         Ans : 2 

91. As per newspaper reports, India's trade gap has been showing a negative growth for the last few months. "Trade Gap" 

means what? 
       lekpkj i= dh fjiksVZ ds vuqlkj] Hkkjr ds O;kikj vUrjky fiNys dqN eghuksa ls udkjkRed òf) ntZ dh xbZ gSA ^^O;kikj vUrjky** D;k gS\  

1) Gap between total GDP and total consumption 
               dqy ldy ?kjsyw mRikn vkSj dqy [kir ds chp vUrj  

2) Gap between total imports and total exports  
    dqy vk;kr vkSj dqy fu;kZr ds chp vUrj 



SBI PO Mains Model Paper 
 

www.BankExamsToday.Com Page 21 
 

3) Gap between available liquidity and expected demand in next five months  
    vxys ikap eghuksa esa miyC/k rjyrk vkSj ekax dh mEehn ds chp vUrj  

4) Gap between budgeted revenue collection and actual collection of the same  
     ctV esa jktLo laxzg vkSj mlh ds okLrfod laxzg ds chp vUrj 

5) None of these ¼buesa ls dksbZ ugha½        Ans : 2 

92. Which of the following programmes was launched to tackle special problems faced by those areas which are affected 

by drought conditions frequently? 
       fuEufyf[kr dk;ZØeksa esa ls dkSu lk lw[ks dh fLFkfr ls vDlj izHkkfor gksus okys {ks=ksa }kjk lkeuk djus oky fo”ks’k leL;kvksa dk sfuiVkjk djus 

ds fy; “kq: fd;k x;k Fkk\ 

(A) Desert Development Programme  
jsfxLrku fodkl dk;ZØe 

(B) Drought Prone Areas Programme  
       lw[kk izo.k {ks= dk;ZØe 

(C) Watershed Development Programme  
tyxzg.k fodkl dk;ZØe 

 1) Only A  2) Only B  

 3) Only C  4) Both A & B  

5) All A, B & C         Ans : 5 

93. Whenever RBI does some Open Market Operation transactions, actually it wishes to regulate which of the following?  
      tc Hkh Hkkjrh; fjtoZ cSad dqN vksiu ekdsZV vkWijs”ku ds ysu&nsu djrh gS] okLro esa og fuEu esa ls dkSu lk fofu;fer djuk pkgrh gS\ 

1) Inflation only  

2) Liquidity in economy  

3) Borrowing powers of the banks  

4) Flow of Foreign Direct Investments  

5) None of these         Ans : 2 

94. The maximum amount of the total revenue earned by the Govt. of India comes from  
       Hkkjr ljdkj }kjk vfTZkr dqy jktLo dk vf/kdre jkf”k dgka ls vkrk gS\ 

1) Income Tax  ¼vk;dj½  2) Customs Duty ¼lhek “kqYd½   

3) Excise Duty ¼mRikn “kqYd½ 4) Value Added Tax ¼ewY;&;ksftr dj½  

5) Corporate Tax ¼fuxe dj½     Ans : 5 

95. Which of the following is TRUE about the 'Single Euro Payment Area ", a concept very much in news these days?  
     fuEufyf[kr esa ls dkSu lk bu fnuksa cgqr T;knk [kcjksa esa jgus okys vo/kkj.kk ^^,dy ;wjksHkqxrku {ks=** ds ckjs esa lgh gS\ 

(A) It is a concept floated by the European Union.  
;g ;wjksih; la?k }kjk tkjh ,d vo/kkj.kk gSA 

(B) It aims to create an integrated market for payment services in Euro.  
     bldk y{; ;wjks esa Hkqxrku lsokvksa ds fy, ,dhdr̀ cktkj cukuk gSA 

(C) It is a contract to convert all US dollar payments into Euro, which is a currency almost free from fluctuations in its 

value.  
      ;g lHkh vesfjdh MkWyj dks ;wjks] tks fd vius ewY; esa mrkj&p<+o ls yxHkx eqDr gS] esa ifjofrZr djus dk vuqca/k gSA  

 1) Only A  2) Only B  3) Only C 

 4) Only A & B  5) None of these       Ans : 4 

96. What is Repo Rate? 
       jsiks nj D;k gS\  

1) It is a rate at which RBI sell Govt. securities to banks. 
                ;g ,d nj gS ftl ij fjtoZ cSad] ljdkjh izfrHkwfr;k¡ cSadksa dks csprh gSA 

2) It is a rate at which RBI buys Govt. securities from banks.  
   ;g ,d nj gS ftl ij fjtoZ cSad] ljdkjh izfrHkwfr;k¡ cSadksa ls [kjhnrh gSA 

3) It is a rate at which RBI allows small loans in the market.  
   ;g ,d nj gS ftl ij fjtoZ cSad] cktkj esa NksVs _.k dh vuqefr nsrh gSA 

4) It is a rate which is offered by Banks to their most valued customers or prime customers.  
   ;g ,d nj gS ftls cSadksa }kjk muds lcls ewY;oku xzkgdksa ;k iz/kku xzkgdksa dks I”kd”k fd;k tkrk gSA 

5) None of these ¼buesa ls dksbZ ugha½       Ans : 2 
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97. The 'National Energy Conservation Day' is observed every year on 
       ^jk’Vªh; ÅtkZ laj{k.k fnol* gj o’kZ euk;k tkrk gS&  

        1) 24th December  2) 14th November  3) 14th October  

4) 14th December  5) 24th November     Ans : 4 

98. Portfolio Management Services (PMS) offered by banks  to their customers are subject to regulation by 
      cSadksa }kjk vius xzkgdksa ds fy, is”kd”k iksVZQksfy;ks eSustesaV lfoZlst ¼ih,e,l½] fdlds fofu;eu ds v/khu gS\ 
    1) Competition commission of India (CCI)  

 2) Securities and Exchange Boards of India (SEBI)  

 3) Forward Markets Commission (FMC)  

 4) Provident Fund and Regulatory Department (PFRD)  

 5) The Reserve Bank of India        Ans : 2 

99. Credit/Debit card payments made without actually swiping the credit/debit card but by using details on the card are 

known as  
      okLro esa ØsfMV@MsfcV dkMLokbi fd;s fcuk] ysfdu dkMZ ij nh xbZ tkudkjh dk mi;ksx djds ØsfMV@MsfcV dkMZ ls Hkqxrku djuk fdl :I 

esa tkuk tkrk gS\ 

1) Over the counter payment (OTCP) transaction  

2) Physical/cash transaction  

3) ATM Transaction  

4) Card not present Transaction (CNP)  

5) POS Transaction         Ans : 4 

100. A Life insurance Plan wherein the policy holder receives a fixed amount at specific intervals throughout the duration 

of the policy is known as 
       ,d thou chek ;kstuk ftlesa ikWfylh/kkjd ikWfylh dh vof/k ds nkSjku fof”k’V varjky ij ,d fuf”pr jkf”k izkIr djrk gS] ;s fdl :Ik esa 

tkuk tkrk gS\  

      1) Whole life Policy  

2) Unit linked Plan  

3) Other than those given as options  

4) Money-Back Policy  

5) Fixed term Plan         Ans : 4 

101. As per the reports published in the newspapers, the banks, particularly public sector banks, are tying up 

with various rating agencies for providing a qualitative assessment of the credit needs of the borrowers. 

Which amongst the following is/are such credit rating agencies in India? 
   lekpkj i=ksa esa izdkf”kr fjiksVZ ds vuqlkj] m/kkjdrkZvksa ds _.k t:jrksa dh ,d xq.kkRed ewY;kadu iznku djus ds fy, cSadksa] fo”ks’k 

:i ls lkoZtfud {ks= ds cSadksa] fofHkUu jsfVax ,tsafl;ksa ds lkFk xBtksM+ dj jgs gSaA fuEufyf[kr esa ls dkSu lk bl rjg ds ØsfMV 

,tsalh Hkkjr esa gS@gSa\ 

 (A) CARE  (B) CRISIL  (C) ULIP 

 1) Only A  2) Only B  3) A & B only 

 4) Only C  5) All A, B & C       Ans : 3 

102. As per the newspaper reports, the RBI is planning to introduce "Plastic Currency Notes". What is/are the 

benefits of "Plastic Notes"?  
   lekpkj i= ds fjiksVZ ds vuqlkj] Hkkjrh; fjtoZ cSad ^^IykfLVd djsalh uksVksa** dks “kq: djus dh ;kstuk cuk jgh gSA ^^IykfLVd uksVksa** ds 

D;k ykHk gSa\ 

(A) Their shelf life will be longer.  

(B) It will replace plastic money or credit, debit cards which are giving birth to many fraudulent practices.  

(C) Printing will be cheaper.  

 1) Only C  2) Only B 3) Only A  

 4) All A, B & C  5) None of these      Ans : 3 

103. 'Sub Prime Lending' is a term applied to the loans made to 
    in ^^lcizkbe _.k** mu _.kksa ij ykxw gksrk gs tks&   

1) those borrowers who do not have a good credit history.  



SBI PO Mains Model Paper 
 

www.BankExamsToday.Com Page 23 
 

2) those who wish to take loan against the mortgage of tangible assets.  

3) those who have a good credit history and are known to bank since 10 years.  

4) those borrowers who are most preferred customers of the bank.  

5) None of these         Ans : 1 

104. As per the reports published in various journals and newspapers, the "small borrowers" in rural areas still 

prefer to take informal route for their credit needs. Which of the following is the "informal route" of credit in 

the financial sector?  
   fofHkUu i=&if=dkvksa vkSj lekpkj i=ksa esa izdkf”kr fjiksVZ ds vuqlkj] ^^NksVs m/kkjdrkZvksa** xzkeh.k {ks=ksa esa vHkh Hkh vius _.k dh t:jr 

ds fy, vukSipkfjd ekxZ ysuk ilan djrs gSaA fuEu esa ls dkSu lk foÙkh; {ks= dh ^^vukSipkfjd ekxZ** gS\  

1) Credit cards  

2) Loan against gold from financial institute  

3) Debit cards  

4) Moneylender  

5) None of these        Ans : 4 

105. Basel-II norms are associated with which of the following aspects of the banking industry?  

      fuEufyf[kr igyqvksa esa ls dkSu lk ds lkFk csly&II lac) gS\ 

1) Risk management  

2) Manpower planning  

3) Retirement benefits for the employees  

4) Corporate governance  

5) None of these         Ans : 1 

106. An insurance scheme for the agriculture sector was introduced by the Govt of India. Which of the 

following represents the name of the same?  
    dqf’k {ks= ds fy, chek ;kstuk Hkkjr ljdkj }kjk “kq: dh xbZ FkhA fuEu esa ls dkSu lk mlh ds uke dk izfrfuf/kRo djrk gS\  

 1) NAIS  2) RIDF  3) AICIL 

 4) CACP  5) None of these      Ans : 1  

107. Which of the following is correct about the Rajiv Gandhi Grameen Vidyutikaran Yojana ?  
      fuEu esa ls dkSu lk jktho xka/kh xzkeh.k fo|qrhdj.k ;kstuk ds ckjs esa lgh gS\  

 (A) The scheme was launched in a few backward states only.  

(B) The aim of the scheme was to provide electricity Ie all villages having a population of 5000 and above  

(C) The scheme achieved its target in less than 10 years time.  

 1) Only A   2) Only B  3) Only C 

 4) All A, B & C  5) None of these      Ans : 5 

108. Some agro-processing units make an advance agreement with the farmers and decide to purchase the entire 

production of certain fruits, vegetables and medicinal plants on an agreed-upon cost/price. This type of 

arrangement is known as 
      dqN d`f’k izlaLdj.k bdkb;k¡] fdlkuksa ds lkFk ,d vfxze le>kSrk djrs gSa vkSj ,d lgefr okyh ykxr @ dher ij dqN Qyksa] 

lfCt;ksa vkSj vkS’k/kh; ikS/kksa dh iwjh mRiknu dks [kjhnus dk QSlyk djrs gSaA bl izdkj ds O;oLFkk dks D;k dgrs gSa\ 

1) Import farming  2) Crop farming 

3) Adoptive farming  4) Loan farming 

5) Contract farming         Ans : 5 

109. Which of the following is/are the Non-Tax Revenue components of the Union Budget of India?  
      fuEufyf[kr esa ls dkSu Hkkjr ds dsaæh; ctV dh xSj&dj jktLo ?kVd gS@gSa\ 

       (A) Custom Duties ¼lhek “kqYd½ 

      (B) Interest Receipts ¼C;kt izkfIr;k¡½ 

      (C) Dividends and Profits ¼ykHkka”k vkSj equkQs½ 

1) Only A  2) Only B  3) Only B and C  
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  4) Only C  5) All A, B & C       Ans : 3 

110. The investments done by "those financial entities which were launched or incorporated in a foreign country 

but are investing in an Indian venture in India" are generally known as  
      ^^mu foÙkh; laLFkkvksa tks fons”k esa “kq: ;k xfBr fd;k x;k gks] ysfdu Hkkjr esa ,d Hkkjrh; m|e esa fuos”k dj jgsa gksa** ds }kjk 

fuos”k vke rkSj ij fuEu esa ls D;k dgk tkrk gS\ 

1) Patent Money  

2) Private Equity  

3) Foreign Institutional Investment  

4) Current Account Money  

5) None of these         Ans : 3 

111. The concept of "Meeting the needs of present without compromising the ability of future generation to 

meet their needs", is generally known as the concept of  
      ^^mudh t:jrksa dks iwjk djus ds fy, Hkfo’; dh ih<+h dh {kerk dk le>kSrk fd, fcuk orZeku dh t:jrksa dks iwjk djuk** dh 

vo/kkj.kk] vke rkSj ij fuEu esa ls fdl vo/kkj.kk ds :Ik esa tkuk tkrk gS\ 

1) Climate Migration  

2) Sustainable Development  

3) Structural Development  

4) Inclusive Growth  

5) None of these         Ans : 2   

112. Which of the following is NOT the component of India's Securities Market?  
   fuEufyf[kr esa ls dkSu Hkkjr ds izfrHkwfr cktkj ds ?kVd ugha gS\ 

1) Commodity Futures  

2) Small Savings in National Saving Certificates  

3) Government Bonds  

4) Corporate Equity  

5) Derivatives on currency       Ans : 2 

113. As we all know, Govt. of India pays special emphasis on the management of Fiscal Deficit. What is Fiscal 

Deficit? 
      tSlk fd ge lHkh tkurs gSa] Hkkjr ljdkj ds jktdks’kh; ?kkVs ij fo”ks’k tksj nsrh gSA jktdks’kh; ?kVk D;k gS\ 

      1) The gap between projected or estimated GDP and actual GDP 

2) The gap between the total number and value of the currency notes issued by the RBI uptill now over 

the number and value of those which are in actual circulation 

3) The gap between the actual borrowings of the Govt of India and the expected expenditure for which 

provision is made in the budget  

4) Excess of Govt's disbursement comprising current and capital expenditures over its current receipts 

(Tax! non-tax receipts)  I  

5) None of these         Ans : 4 

114. Stock market indexes traditionally served as a benchmark to measure the performance of which of the 

following types of portfolios of the investors/promoters? 
     fuos”kdksa@izeksVjksa ds fuEufyf[kr fdl izdkj ds iksVZQksfy;ks dk izn”kZu ekius ds fy, “ks;j cktkj vuqØfer ikjaifjd :i ls ,d 

csapekdZ dh rjg dke djrk gS\ 

1) Equity portfolio  2) Tax saving instruments  

  3) Mutual Funds  4) Investments in Govt. Securities  

5) All of these         Ans : 1 

115. Which of the following is the name of the organisations, created to provide full employment and self-

reliance to the women folk in India?  
     fuEu laxBu ds ukeksa esa ls dkSu lk Hkkjr esa efgykvksa ds yksd dks iw.kZ jkstxkj vkSj vkRefuHkZjrk iznku djus ds fy, cuk;k x;k gS\ 
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  1) OECD  2) ROSCA  3) SVP  

  4) USO  5) SEWA        Ans : 5 

116. An agreement, which in fact is a contract, between the RBI and Banks for the sale and repurchase of Govt. 

securities and short-term treasury bills at a future date and for which the RBI indicates "the interest rate" is 

generally known as 
    ljdkjh izfrHkwfr vkSj Hkfo’; ds rkjh[k okys vYidkfyd Vªstjh fcyksa ftlds fy, Hkkjrh; fjtoZ cSad ^C;kt nj* bafxr djrk gS dh 

fcØh vkSj iqu[kZjhn ds fy, Hkkjrh; fjtoZ cSad vkSj cSadksa ds chp ,d le>kSrk] tks okLro esa ,d vuqca/k gS lekU;r% D;k dgykrk gS\ 

1) Repo Rate   2) Bank Rate  3) Reverse Repo Rate  

4) Prime Lending Rate 5) None of these      Ans : 1 

117. Under the Pradhan Mantri Jan Dhan Yojana (PMJDY) scheme, each customer who opens his account will 

get RuPay debit card with an in-built  
  iz/kkuea=h tu /ku ;kstuk ¼ih,etsMhokbZ½ ;kstuk ds rgr viuk [kkrk [kksyus okys dks izkIr gksrk gS :is MsfcV dkMZ ds lkFk ,d 

vrfuZfgr & 

1) Life Insurance cover of Rs. 1,00,000  

2) Accident Insurance cover of Rs. 1,00,000  

3) Crop Insurance of Rs. 1,00,000  

4) Medical Insurance cover of Rs. 1,00,000   

5) Health Insurance cover of Rs. 1,00,000      Ans : 2 

118. Very often we read in the newspapers about various measures taken up to control the flow of the capital in 

the Indian markets. Who amongst the following is/are the regulators who can control the flow of the same in 

India? 
cgqr ckj ge Hkkjrh; cktkjksa esa iwath ds izokg dks fu;af=r djus fy, mBk, x, fofHUu mik;ksa ds ckjs esa v[kckj esa i<+rs gSaA ml 

izokg dks Hkkjr esa fuEufyf[kr esa ls dkSu lk@ls fu;af=r dj ldrk gS\  

     (A) Indian Banks' Association  

     (B) RBI  

     (C) SEBI  

1) Only (A)  2) Only (B) 3) Only (C)  

4) Both (B) & (C)   5) Both (A) & (B)     Ans : 2 

119. Many times we read a term "Hot Money" in newspapers.  

        What is/are the characteristics of Hot Money?  
     v[kckjksa esa dbZ ckj ,d in ^^gkWV euh** i<+rs gSaA ^^gkWV euh** dh D;k fo”ks’krk gS@gSa\  

        (A) The term is used for fresh currency notes issued by the RBI.  

        (B) It is the fund which flows in the market to take advantage of high interest rates.  

        (C) It is the fund which is thrown in the market to create imbalance in the stock markets.  

 1) Only (A)  2) Only (B)  3) Only(C)   

4) All (A), (B) & (C)   5) None of these     Ans :  2 

120. Which of the following is/are included in "Deficit Financing" in India? (The term is used frequently in 

economic planning.)  
      fuEufyf[kr esa ls dkSu lk Hkkjr esa ^^?kkVs dh foRr O;oLFkk** esa “kkfey fd, x, gSa\ ¼”kCn vDlj vkfFkZd ;kstuk esa iz;ksx fd;k tkrk 

gSA½ 

       (A) Borrowing from the Reserve Bank of India  

       (B) Issue of new currency notes  

       (C) Withdrawal of past balances/surpluses etc  

 1) Only (A)  2) Only (B)  3) Only(C)   

4) All (A), (B) &(C)   5) None of these     Ans : 5 

 

English 
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Directions (Q. 121-155): Read the passage carefully and answer the questions given below it. Certain 

words/phrases are given in bold to help you locate them while answering some of the questions. 

 

 Picking up your fund's latest fact sheet, you notice that the expense ratio is 2.1 per cent. Is that good or 

bad? Can the expense ratio significantly impact returns? Here's the answer.  

 Expense ratio is the cost incurred to operate a fund. It is the amount you pay a fund - a portion of your 

invested money - every year to manage your money. Expenses include the costs of selling and buying stocks, 

fund management fee; agent commissions, registrar fees, and selling and promotional expenses.  

 While different funds have different expense ratios, the SEBI has capped the amount that funds can 

charge based on the type of fund. Equity funds can charge a maximum of2.5 per cent whereas a debt fund can 

charge 2.25 per cent of the average weekly net assets.  

 Since this charge is made on the total assets of the scheme, your fund NAV is calculated after deducting 

this charge.  

 But when do you really need to take note of the expense ratio? Well, it depends on the type of fund you 

invest in.  

 Expense ratios for equity funds on an average vary between 2.2 and 2.5 per cent. Considering equity 

funds that have delivered more than 20 per cent in the last 10 years, a one percentage point change in expense 

ratio does not make a material difference.  

 In actively managed equity funds, expense ratio is secondary. Funds follow different strategies and have 

different levels of portfolio churn, which, in turn, impact returns.  

 Besides, equity has the potential to deliver blockbuster returns, which can more than compensate for 

higher expenses in management.  

 Take, for instance, large-cap equity funds over the last five years. The top funds - such as HDFC Equity, 

ICICI Pru Focused Bluechip or Franklin India Prima Plus - all have among the lowest expense ratios of2.2-2.3 

per cent. 

  But Birla Sun Life Top 100, whose expense ratio is 2.8 per cent, also ranks at the top. So your aim is to 

select a consistent, good-performing fund instead of worrying about where it ranks on the 'expense ratio front. If 

you're considering two funds with similar strategy and performance, use the expense ratio as a differentiator.  

 Expense ratio makes a notable difference in debt fund returns as these funds do not generate the high 

returns equity funds do.  

 For instance, after delivering close to 14-15 per cent returns annually, gilt funds took a knock last year. 

Returns on gilt funds are down to single digits in the last one year. With a long-term expected return of 8-9 per 

cent on such funds, expense ratios make a huge difference. A fund with a 1.2 per cent expense ratio will be 

much higher than one with 2.2 per cent ratio.  

121. Which of the following should be taken into account while selecting between two funds with similar 

 strategy and performance?  

 (A) Expense ratio; the lower the expense ratio the better the results.  

 (B) Consistently well-performing funds are better than inconsistent ones. 

 (C) Report of credit rating agencies   

 1) Only (A) and (B)   2) Only (B) and (C)   3) Only (A) and (C)   
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 4) Only (A)    5) Only (B)        Ans. 1 

122. Which of the following is not true about expense ratio? Answer in the context of the passage.  

 (A) Expense ratio is the cost of managing of fund.  

 (B) It is the portion of invested money to manage the money.   

 (C) Expense ratio is arrived at by dividing cost price by expenses incurred on producing an article.   

 1) Only (A)    2) Only (B)    3) Only (C) 

 4) Only (A) and (B)   5) Only (B) and (C)       Ans. 3 

123. Find the statement which is not based on the facts mentioned in the passage.  

 1) A debt fund generates higher returns than an equity fund.  

 2) Amongst HDFC Equity, ICICI Pru Focused Bluechip, Frankline India Prime Plus and Birla Sun Life 

Top 100, the last is the worst performer in expense ratio.  

 3) NAV is calculated after deducting the fund management charge. 

 4) The expense ratio of 2.I per cent is a good Indicator for a fund.  

 5) None of these           Ans. 1 

124. Which of the following does not form the part of management expenses?  

 1) The cost of selling and buying stocks 

 2) Agent commission and registrar fees  

 3) Selling and promotional expenses  

 4) Bank overdrafts  

 5) None of these           Ans. 4 

125. Why is NAV calculated after deducting charges? Answer in the context of the passage.  

 (A) Because the charges are calculated on the total assets of the scheme.  

 (B) Because NAV is at all affected by small charges.  

 (C) Because NAV is the difference of net assets and liabilities.  

 1) Only (A)  2) Only (B)   3) Only (C)  

 4) Only (C)   5) Only (B) and (C)        Ans. 1 

 

Directions (Q. 126-128): Choose the word(s) which is/are most similar in meaning to the word printed in 

bold as used in the passage.  

126.  Capped   

 1) ignored    2) fixed upper limit  3) surpassed 

 4) introduced   5) cut         Ans. 2 

127. Delivered   

 1) formed   2) offered   3) introduced 

 4) produced   5) awarded        Ans. 4 

128. Churn   

 1) freeze   2) performance   3) mixup   

 4) simmer   5) movement         Ans. 3 

 

Directions (Q. 129-130): Choose the word/group of words which is most opposite in meaning of the 

word/group of words, printed in bold as used in the passage.   
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129. Material  

 1) unimportant   2) physical    3) concrete 

 4) spiritual   5) objective         Ans. 1 

130. Potential   

 1) energy   2) power    3) future 

 4) tendency   5) disadvantage        Ans. 5 

 

Directions (Q. 131-135): In the following questions, a sentence has been given with some of its parts in bold. 

To make the sentence correct, you have to replace the bold part with the correct alternative given below. If 

the sentence is correct as it is, please give 5) as your answer (i.e. No correction required).   

131. The weak are herded like sheep and used as tools in the hands of the strong to serve in the letter's ends. 

 1) in the letter’s end  2) the later’s end    3) the latter's ends.   

 4) the later ends.   5) No correction required      Ans. 3 

 

132. Of the many social evils in the country, the system of dowry is most worse. 

 1) is more worse    2) is worse    3) is the worse  

 4) is the worse   5) No correction required       Ans. 4 

133. Man is caught in a vicious cycle, where he is endless try to gratify his needs 

 1) endlessly try to gratify   2) endlessly trying to gratify    3) endless in trying to gratifying   

 4) ended in trying to gratify 5) No correction required       Ans. 2 

134. A man who is contented with his lots is far happy than a man who is forever seeking happiness through 

 worldly comforts.  

 1) lot is far happier than   2) lots is far happier when    3) lots is more happy than   

 4) a lot is far happier than   5) No correction required       Ans. 1 

135. A true friend, a rare breed today, will stand by you even in your worst times.  

 1) stand besides you   2) stand with you   3) stand for you   

 4) stand beside you  5) No correction required      Ans. 5 

 

Directions (Q. 136-140): Each question below has two blanks, each blank indicating that something has been 

omitted. Find out which option can be used to fill up the blank in the sentence in the same sequence to make 

it meaningfully complete.   

136. A group of several hundred people marched towards the eastern part of the city and ______ the  fortress 

prison, where they hoped to find _______ ammunition. 

 1) raged, hidden   2) roared, saved   3) ripped, treasured  

 4) charged, acquired    5) stormed, hoarded      Ans. 5 

137. One of the most _______ social reforms of the Jacobin regime was the _________ of slavery in the  French 

colonies.  

 1) reactionary, break up    2) revisionary, cancellations   3) revolutionary, abolition   

 4) leftist, reversal      5) insurgent, split up        Ans. 3 

138. The previous constitution of Nepal, which had been adopted in 1990, __________ the fact that the 

 final authority _________ with the king. 
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   1) reflected, rested   2) reproduced, alerted  3) repeated, renewed   

 4) returned, revived   5) brooded, recovered      Ans. 1 

139. Drama had its earliest beginnings in the corporate life 0 the village, the ________ form of settlement that 

took _______ in England.  

 1) reigning, area   2) predominant, place  3) ascendant, venue   

 4) arbitrary, reservation 5) controlling, position      Ans. 2 

140. In the year 1605 the famous Gunpowder plot was ________ as a protest against the sharp ________ of 

 the anti-Catholic laws of King James I. 

 1) effected, administration 2) acted, obligation  3) committed, prescription 

 4) perpetrated, enforcement 5) executed, coercion      Ans. 4 

 

Directions (Q. 141-145): Rearrange the following six sentences (A), (B), (C), (D), (E) and (F) in the proper 

sequence to form a meaningful paragraph and then answer the questions given below.  

 (A) Regarding a politician who does not keep his word, somebody may contend that people would  

   punish him by not voting him back to power after five years.  

 (B) In the commercial world, when a person makes a promise and doesn't keep it, he is considered to 

   have committed a fraud, punishable under law.  

 (C) Why don't they play by the same set of rules for everyone?  

 (D) The question is – isn’t five years long enough a time in the hands of such a crook politician to  

   destroy the nation? 

 (E) None.  

 (F) But when a politician makes a promise merely to get votes and does not keep his commitment,  

  what's the penalty? 

141. Which of the following will be the SECOND sentence after rearrangement?   

 1) A   2) B   3) C     4) D   5) F     Ans. 5 

142. Which of the following will be the THIRD sentence after rearrangement?   

 1) C   2) A   3) B     4) E    5) D    Ans. 4 

143. Which of the following will be the FIRST sentence after rearrangement? 

 1) E   2) A   3) F   4) B   5) D     Ans. 4 

144. Which of the following will be the LAST (SIXTH) sentence after rearrangement?   

 1) D   2) B   3) F      4) A   5) C      Ans. 1 

145. Which of the following will be the FOURTH sentence after rearrangement? 

 1) C   2) D   3) E  4) F   5) A    Ans. 1 

 

Directions (Q. 146-150): In the following passage, some of the words have been left out, each of which is 

indicated by a number. Find the suitable word from the options given against each number and fill up the 

blanks with appropriate words to make the paragraph meaningful.  

 For a change, the Reserve Bank of lndia (RBI) (146) as market agents (147) it to, and did not change its 

policy rate from its current level of 8 per cent. Except that it has made its policy rate more of a signaling 

instrument and less of a means of accessing money from the RBI at that rate. The amount that banks can borrow 

from the RBI at the repo rate, which is set by the central bank, has been halved while the amount that banks can 
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borrow (148) term repos, where the rate is market-determined via auctions, has (149) been raised. Similar 

market orientation has been (150) for liquidity as well. The RBI, under governor Raghuram Rajan, would like to 

act out the distinction (151) regulator and administrator.  

 Just as when' it raised interest rates the last time (152) the RBI has fortified the economy against currency 

(153) through measures that have been (154) without any nerve-racking reference to turbulence. Foreign 

portfolio investors are being encouraged to (155) in more of the good stuff. Their know-your-customer (KYC) 

norms are being eased. The local currency future market is being opened up to them. 

 

146. 1) behaved  2) conducted  3) convinced 

 4) approached  5) talked       Ans. 1 

147. 1) disliked  2) rejected  3) expected 

 4) familiar  5) habitual       Ans. 3 

148. 1) by   2) upon  3) with 

 4) on   5) through       Ans. 5 

149. 1) either   2) proportionately 3) definitely 

 4) permanently  5) never       Ans. 2 

150. 1) promoted  2) objected  3) pushed 

 4) promised  5) called       Ans. 4 

151. 1) between  2) amongst  3) for 

 4) of   5) about       Ans. 5 

152. 1) over   2) everywhere  3) around 

 4) throughout  5) up        Ans. 3 

153. 1) turmoil  2) bluster  3) havoc 

 4) fracas   5) turbulence       Ans. 1 

154. 1) installed  2) instituted  3) inaugurated 

 4) acted   5) constituted       Ans. 2 

155. 1) come   2) give   3) take 

 4) bring   5) plug        Ans. 5 

 

 

 

  

 

 


